LINEAR AND BILINEAR TRANSFORMATIONS
FOR MODERATELY EXPONENTIAL ALGORITHMS
(LECTURE NOTES FOR AGAPE 09)

PETTERI KASKI

1. INTRODUCTION

Many basic tasks in algebra can be reduced to the problem of evaluating a set
of linear or bilinear forms over a ring R (for example, over the integers).
In the linear case, the task is to evaluate

n
(1) Yi = Zaijxj for 1 < 7 < m,
j=1
where the a;; are coefficients in R, and the z; are elements of R given as input.
In the bilinear case, the task is to evaluate

n S
(2) 2 = ZZbijkijk for 1 <i<m,
j=1k=1
where the b;;, are coefficients in R, and the z; and ¥ are elements of R given as
input.

Here the coefficients a;; and b;;, are understood to be static (that is, part of
the problem definition) and not part of the formal input. Put otherwise, (1) is
essentially the task of multiplying a given vector with an implicit m X n matrix,
and (2) asks us to evaluate a bilinear product of given two vectors. For example,

1

taking the average - Z?Zl x; reduces to (1) with m = 1, and the inner product

> j—1 2;y; reduces (2) with m = 1 and n = s.
Exercise 1. Fxpress the task of multiplying two complex numbers, x1 + x2S and

Y1 + Y23, as the task of evaluating a set of two bilinear forms.

Exercise 2. FEzpress the task of multiplying two polynomials of degrees p and q,
respectively, as the task of evaluating a set of p+ q + 1 bilinear forms.

Exercise 3. FExpress the task of multiplying two matrices of sizes p X q and q X r,
respectively, as the task of evaluating a set of p - r bilinear forms.

In this lecture we study algorithms based on “faster-than-obvious” evaluation
strategies for specific linear and bilinear transformations. Our measure of efficiency
in this setting is the number of basic arithmetic operations in the ring R.

Exercise 4. The obvious way to multiply two complex numbers requires four real
multiplications:

(1 + 229) (11 + 129) = 211 — T2y2 + (T1y2 + Y122) .

Show that three real multiplications suffice.
1
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In many cases it is possible to view an evaluation strategy as an R-arithmetic
circuit that transforms a given input into the desired output via a circuit of (i)
arithmetic gates (addition, negation, multiplication) and (ii) constant gates taking
values in R. We assume that all arithmetic gates have a fan-in of at most two.

Example 5. A real arithmetic circuit for multiplying two complex numbers with
three multiplications.
(=)

Note that multiplication in an arbitrary ring R need not be commutative, in
which case one must explicitly indicate the left and right inputs to a multiplication
gate.

2. TWO EXAMPLES OF FAST EVALUATION

2.1. Yates’s algorithm. The n-dimensional binary hypercube (the n-cube) is the
graph whose vertices are the binary strings s = (s1, s2,...,$,) € {0,1}", and any
two vertices are joined by an edge if and only if they differ in exactly one position.

Example 6. The n-cube for n = 4.

Consider the following task. Let k : {0,1}?> — R and z : {0,1}" — R be given
as input. We must output the function y : {0,1}" — R, defined by

(3) yt) = Y (H k(ti,si)>x(s) for t € {0,1}".

s€{0,1}n “i=1

Observe that (3) in fact asks us to evaluate a set of 2" linear forms, one for each
vertex t of the n-cube. Thus, we are looking at an instance y(t) = ), a(t, s)x(s) of
(1), where the coefficients a(t,s) = [[;—, k(t;, s;) are determined by the auxiliary
input k.

A direct evaluation of (3) takes O(4™n) ring operations.
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To arrive at more efficient evaluation, one possibility is to view []}_, k(t;, s;) in
(3) as the “weight” of a “walk” from s to t in the n-cube, where each step s; — ¢;
contributes the weight k(¢;,s;). In particular, we can view y(t) as the weighted
sum of “messages” x(s) transmitted along walks to ¢t. A direct evaluation of (3)
corresponds to considering each individual walk separately, but it turns out that
the walks can be processed in aggregate using dynamic programming.

Let us make more precise the notion of a “walk” in this context. Let s and t be
any two vertices of the n-cube. The walk from s to t is a sequence of n steps, where
step 1 = 1,2,...,n consists of the rule s; — t; applied to position 3.

Example 7. The walk from s = (0,1,1,0) tot = (1,1,0,0) is (0— 1,1 — 1,1 —
0,0 — 0). The sequence of vertices visited by the walk appears below.

0 (0—1) 1 1 1 1
1 1 (1—1) 1 1 1
1 1 1 (1—0) 0 0
0 0 0 0 (0—0) 0

Observe that a walk uniquely determines the sequence of vertices it visits.

Exercise 8. Conclude that for any vertex u € {0,1}" there are exactly 2™ walks
that are at u after exactly j steps, 0 < j < n.

The intuition in the following algorithm is that z;(u) contains an aggregate of
the walks that are at u after exactly j steps. In particular, these walks originate

from the vertices (s1,...,5;,%j41,...,uy) for si,...,s; € {0,1}.
The algorithm proceeds in n rounds. First, for every s € {0,1}", set
def
(4) z0(s) = a(s).
In round j =1,2,...,n, for every u € {0,1}", set
def
2o,y un)
(5) k(uj70)'Zj—l(ulv"'7Uj—170auj+17"'7un)
+k(’LLj, ].) . ijl(ul, ceeyUj—1, ].,u]'+1, N ,Un).

Lemma 9. For all j =0,1,...,n and u € {0,1}" it holds that

©6) zZlunou)= Y (f[k(ui,si))m(sl,...,sj,uj+1,...,un).

81,...,Sj€{0,1} =1

Proof. By induction on j. O

Exercise 10. Give a full proof for Lemma 9.

In particular, (3) and (6) imply that z,(t) = y(¢) for all ¢ € {0,1}". Thus,
Yates’s algorithm given by (4) and (5) evaluates (3) in O(2™n) ring operations.

Observe that we may think of (4) and (5) as a specification of an arithmetic
circuit with inputs for x and outputs for y = z,.

r— (3 =uv
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Exercise 11. Draw Yates’s algorithm as an arithmetic circuit when n = 3 and
k(0,0) =1, k(1,0) =1, k(0,1) =0, k(1,1) = 1.

Exercise 12. Let A and B be mxn and px q matrices, respectively. The Kronecker
product A ® B is the mp X nqg matriz defined by

annB  ai2B -+ a1, B

anB  axpB -+ aB
AgB ¥ . . )

am1 B ama2B -+ amnB

Express (3) as a matriz—vector product, where the matriz is obtained via Kronecker
products. Using this representation, design a recursive version of Yates’s algorithm.

Exercise 13. Eztend Yates’s algorithm to evaluate sums of the form
y(tl, e ,f,n) =

mi1—1mo—1 My —1

Z Z Z k‘1(t1,...,tn751)k‘2(t2,...,tn,Sg)-"k‘n(tn,sn)x(sl,...,sn)

s1=0 s2=0 Sn=0

where t; =0,1,...,m; —1 fori=1,2,...n.

Exercise 14. Consider the one-dimensional discrete Fourier transform for a se-
quence x(0),z(1),...,2(2" — 1) of length 2":

= st
y(t) = Zexp( )x(s) fort=0,1,...,2" — 1.

omn
s=0

Reduce to the form in the previous ezercise.

2.2. Strassen’s algorithm. How many multiplications does it take to multiply
two 2 x 2 matrices? A direct evaluation takes 8 multiplications:

|l a b e f | ae+bg af +bh
X_{c d]’ Y_[g h}’ XY_[ce—kdg cf+dh]'

However, as was discovered by Strassen in 1968, 7 multiplications suffice:
XY:[%+%—%+% a1+ ao y
g3+ qa @ +4q5 —q3—qr

where

q =a(f—h), g5 = (a+d)(e+h),

@=(+bh, g=(>b-d(g+h),

g3 =(c+d)e, gr=(a—c)le+f),

g =d(g—e).
Exercise 15. Ezxpress Strassen’s formula as an arithmetic circuit with three levels
of gates (addition, multiplication, addition).

Now, suppose we want to multiply two n X n matrices, X and Y. Assuming n
is even (if not, insert a row and column of 0s to both matrices), we can partition
X and Y each into four [n/2] x [n/2] submatrices

(28] =[5 5]



whereby the product XY can be expressed in similarly partitioned form as

AE+ BG AF+ BH
CE+DG CF+DH |’

Déja vu? Indeed, Strassen’s discovery tells us how to compute the matrix product
XY using only 7 multiplications of [n/2] x [n/2] matrices! By recursion, we obtain
that two n X n matrices can be multiplied in

(7) T(n) =7T([n/2]) + O(n?)

arithmetic operations, that is, T(n) = O(n'°¢27) = O(n?8!). Computing directly
from the definition takes ©(n?®) operations.

Can one do better than O(n?8!)? Put otherwise, for which exponents o do
there exist algorithms such that one can multiply n x n matrices in time O(n®)?
Obviously a > 2. Let w be the greatest lower bound for such exponents . We say
that w is the exponent of matriz multiplication. Currently the best upper bound is
w < 2.376 (see §5.3), but many conjecture that w = 2.

XY =

3. TRANSFORMATIONS ON THE SUBSET LATTICE

Let U = {1,2,...,n} and denote by 2U the set of all subsets of U. The basic set
operations (AUB, ANB, A\ B, ...) on 2V induce natural bilinear transformations
on functions f : 2V — R. We study two such transformations, the union product
and the disjoint union product.

3.1. The union product. Let f : 2V — R and g : 2Y — R. Define the union
product fUg:2Y — R by

(8) U= > f(A)g(B) for SCU,
AUB=S

where the sum is understood to range over all pairs A, B C U such that AUB = S.
Observe that (8) is an instance of (2).

Exercise 16. (fUg)Uh=fU(gUh).
EXGI‘CiSG 17. (f1 U fg J---u fk)(S) = ZAlLJAgU---UAk:S fl(Al)fg(Ag) s fk(Ak)

Exercise 18. For a given S C U, how many pairs (A, B) are there such that
AU B = S? Given f and g as input, how many arithmetic operations does it take
to compute f U g directly from the definition?

3.2. Moebius inversion. The principle of Moebius inversion states that any finite
partially ordered set (X, <) has a pair of mutually inverse linear transformations,
the zeta transform and the Moebius transform, for manipulating functions f : X —
R. In particular, this applies to (2V,C), and will reduce f U g into a pointwise
product amenable for fast evaluation.

Lemma 19. A finite nonempty set has equally many subsets of even and odd size.

Proof. Let x € U. Partition the subsets of U into pairs by associating S C U \ {x}
with S U {z}. Exactly one set in each pair has even (odd) size. O

Exercise 20. Give an algebraic proof for Lemma 19. Hint: the Binomial Theorem
(@) = T ()a'y™
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Let f:2Y — R. Define the zeta transform f¢:2Y — R by

9) (FOM) = Y f(S) for TCU.
SCT
Define the Moebius transform fu: 2V — R by
(10) (f)(T) E D" (-)SHTI(S) for T C U
SCT

Observe that both (9) and (10) are examples of (1). Also observe that if we are
working over an abstract ring R, then “1” in (10) refers to the multiplicative identity
element of R.

Exercise 21. Given f as input, how many arithmetic operations does it take to
compute fC directly from the definition?

For a logical proposition P, we use Iverson’s bracket notation [P] as a shorthand
for 1 when P is true, and for 0 when P is false. This notation will be convenient
when simplifying nested sums, such as in the proof of the following lemma.

Lemma 22. The zeta- and Moebius transforms on (2, C) are mutual inverses.

Proof. We show that f(u = f and leave fu( = f as Exercise 23. Consider an
arbitrary S C U. We have

(fCm)(S) = D (=1)IAHSI(£O)(Q) (definition)

QCs
Z 1)ll+is] Z f(P (definition)
QCS PCQ

=D [Q C S|(-n)FHEIN TP C Qf(P) (to brackets)
Q P

= Z[Q C S)(~n)IeHISIP C QI (P) (expand)

= (—1)Sl Zf )Y (-DIPCQIQCS] (collect)

Q
1)l Z FPY(-1RPCQCs]  (simplify brackets)

Q
'S'Zf PCs] Y (X (x o\ p)

XCS\P
1)lsl Zf DIFIP = 9] (Lemma 19)

= f(S). (simplify sum)

Exercise 23. Show that fu¢ = f.

Exercise 24. What do the matrices associated with { and u look like if we consider
the subsets indexing the rows and columns of the matrices in lexicographic order?
Construct the matrices for small values of n. By looking at the matrices, can you
devise a fast recursion for computing fC and fu given f as input?
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Exercise 25. Generalize the zeta transform to functions f : X — R, where X is an
arbitrary finite set equipped with a partial order <. Prove that the zeta transform
on X is invertible. Deriwe an explicit form for the Moebius transform on your
favourite partially ordered set, say, the set of positive divisors of the integer n,
partially ordered by divisibility.

Define the pointwise product f-g:2Y — R by (f-9)(S) def f(S)g(S) for SCU.

Lemma 26. (fUg)¢ = (f() - (9¢)-
Proof. For a T C U, we have

(FUPOT) = _(fUg)(S) (definition)

SCT

= Z Z f(A)g(B) (definition)
SCT AUB=8

= Z[S CT) Z[A UB=S]f(A)g(B) (to brackets)

g AB

= ) [SCTIAUB=S]f(A)g(B)  (expand)

S,A,

B
=> f(A)g(B)Y [SCTI[AUB=S] (collect)

A,B S
= Z f(A)g(B) Z[A UB=SCT)] (simplify brackets)
A,B 5
=> f(A)g(B)J[AUBCT] (simplify sum)
AB
= Z f(A)g(B)[ACT|[BCT] (simplify brackets)
AB
ST SIBCTIB)  (collect)
A B
=S5 Y 9(B) (to sums)
ACT BCT
= (fO(T)(gO)(T) . (definition)

O

By Moebius inversion, we can recover the union product by taking the Moebius
transform on both sides:

(11) fug=(fQ)-(9))n-
Again we may think of (11) as a circuit specification:
= ¢

fUg

\V/
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Exercise 27. (fiU foU---U fi) = (f10) - (f20) - ... - (fx0)-
Exercise 28. How many operations does it take to directly evaluate the right-hand
side of fUfU---Uf = (fC)*u ? What if we only want (f U fuU---U f)(U)?
—_—
k terms

3.3. Disjoint union product (subset convolution). Let us consider a variant
of the union product where we require the unions A U B = S to be disjoint, that
is, that AN B = 0 must also hold.

For brevity, let us write A U B = S as a shorthand for AUB = S and ANB = (.

More generally, let us write A UAdy U --- UAk =S for AiUAU---UA, =S
and A;NA;=0forall 1 <i<j<k.

Define the disjoint union product f U g:2Y - Rby
(12) (fURS)E S f(A)g(B) for SCU.

AUB=S
The union product is also called the subset convolution because of the “convolution-
like” equivalent form

(fUQS) =D F(T)g(S\T).

TCS
Again observe that (12) is an instance of (2).
Exercise 29. (fUg)Uh=fU (gUh).
Exercise 30. (f; U fg U fe)(S) = f1(A1) f2(A2) - fu(Ag).

Exercise 31. Given f and g as input, how many arithmetic operations does it take

ZAIUAzU UA =S

to compute f U g directly using the convolution form?

Let us now reduce f U g via “polynomial extension” to the union product. The
following fact will provide the crux of the argument.

Lemma 32. For A,B,S C U we have AUB = S and AN B = { if and only if
AUB =S and |A|+ |B| =S|

Let w be a polynomial indeterminate, and denote by R{*) the associated univari-
ate polynomial ring with coefficients in R. For a polynomial p = ). a;w" € R
denote by {w’}p the coefficient of the monomial w’ in p, that is, {w/}p = a;.

Exercise 33. Can we use an R-arithmetic circuit to simulate an R%) -arithmetic
circuit? What if we introduce an R -arithmetic gate {w’} that takes as input
a polynomial and outputs (as a polynomial of degree zero) the coefficient of the
monomial w? for a constant j?

Exercise 34. Can we replace computations with explicit polynomials by compu-
tations with evaluations of such polynomials in sufficiently many distinct points
w = wo, W1, ..., wq to enable recovery of the polynomial coefficients (as necessary)
via interpolation? Can we interpolate in an arbitrary ring?

Let us now proceed with the reduction. Suppose we are given f : 2V — R
and g : 2 — R as input. Define f{*) : 2V — R and ¢( : 2V — R by
fE(8) = f(S)w!Sl and gt () = g(S)w!S! for S C U.
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Note in the following equality that the union product on the right-hand side is
evaluated in R

Lemma 35. (f U 9)(S) = {wS} (@) U gt))(S).

Proof.
{wly(F U gt N(S) = {wl®y Y7 (A)g(B) (definition)
AUB=3S
= {w!®} Z f(A)wg(B)w!P! (definition)
AUB=3S
= Z {w!*1} f(A)w! A g(B)w! P! (linearity)
AUB=S
= Z {w!1} f(A)g(B)w!AIHIPI (collect)
AUB=S
=> [AUB = SH{w*l} f(A)g(B)w*HIPI (to brackets)

A,B
=Y [AUB = 9][|A] + |B| = |S|]f(A)g(B) (definition)
A,B

[AUB=S][AnB=10]f(A)g(B) (Lemma 32)
A,B
= Z (to sums)
ARE i@
= Z f(A)g(B) (definition)
AUB=S
= (fUgIs). (definition)
O
Again we may view the result as a circuit specification:
f (w) ¢ N . |
/ : w {wl ‘} fug
9 {w) (¥

Exercise 36. (fi U fo U---U f)(S) = {wS (A" U 5 U 0 £89(9).

Exercise 37. Consider the disjoint union product. Suppose we relax AUB = S to
A,B C S, but still require that AN B = (). Study the resulting “disjoint packing”
product. Can you reduce the disjoint packing product to the disjoint union product?

4. TWO EXAMPLES OF ALGEBRAIZATION

We consider two examples of algebraization and associated time—space tradeoffs
enabled by fast evaluation.
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4.1. Graph coloring. Let G be an undirected loopless graph with vertex set V.
A set I C V is independent in G if no two vertices in I are joined by an edge of
G. We say that G is k-colorable if there exist independent sets Iy, Is, ..., I; such
that I; U Ib U --- U I = V. Such an ordered tuple (I1,I5,...,I) is a (proper)
k-coloring of G. Indeed, the intuition is that the vertices in I; have “color” i; a
coloring is proper if and only if the ends of every edge have distinct colors.

The k-coloring problem asks, given a graph G and a positive integer k as input,
whether G has a proper k-coloring.

4.2. Algebraizing graph coloring. Denote by Z the ring of integers. Let f :
2V — Z be the indicator function for independent sets in G, that is, f(I) =
[I is independent in G| for I C V. Note that f is implicitly defined by the input
G.

The number of distinct proper k-colorings of G is, by an iterated application of
the disjoint union product,

(13) > IfE) @) = {0 F V).
LULU--ULy=V
Assuming that |V| =n and k = O(n), a direct evaluation of the right-hand side
of (13) requires O*(3™) time and O*(1) space, where O*(+) hides a multiplicative
factor polynomial in n.

4.3. A time-space tradeoff via fast Moebius inversion. The evaluation of
product forms such as (13) can be expedited if sufficient space is available.

Lemma 38. The zeta transform on the subset lattice can be computed in O(2"n)
ring operations given space for O(2™) ring elements.

Proof. Recall that we assume U = {1,2,...,n}. Identify S C U with the binary
string s = (s1,82,...,8n) € {0,1}" by i € Sif and only if s;, =1 for 1 <4 < n.
In particular, we have [S C T| = [];_,[s; < t;]. Thus, Yates’s algorithm with
x(s) « f(S) and k(b,a) < [a < b] in (3) uses O(2"n) ring operations to compute
(fO)(T) = y(t) for all T C U. Storage for O(2") ring elements suffices because z;
depends only on z;_; in (5). O

Exercise 39. Show that the Moebius transform admits a similar tradeoff.

Theorem 40. The union product can be computed in O(2™n) ring operations given
space for O(2™) ring elements.

Proof. We take advantage of (11) and Lemma 38. Given f and g as input, compute
f¢ and g¢, take the pointwise product (f¢)-(g¢), and finally compute the Moebius
transform ((f¢) - (9¢))u to obtain f U g. Each of the three steps takes O(2"n)
operations. (I

Exercise 41. Show that the disjoint union product can be computed in O(2"n?)
ring operations given space for O(2™) ring elements.

Thus, given O*(2") space, we can solve graph coloring in O*(2") time by evalu-
ating the right-hand side of (13).

Exercise 42. Can you give other examples of natural “partitioning problems” that
can be solved using product forms such as (13)7
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Exercise 43. Algebraize the task of counting connected spanning subgraphs of a
given graph with n vertices. Develop an algorithm with O*(2™) running time. Hint:
A graph with e edges has exactly 2¢ spanning subgraphs, each of which partitions
into one or more connected components.

4.4. Maximum satisfiability (MAX-SAT). Let 1,29, ...,x, be variables tak-
ing values in {0,1}. A literal is a variable z; or its negation Z;. A positive literal
x; (respectively, a negative literal Z;) is satisfied by an assignment of values to the
variables if z; = 1 (respectively, x; = 0). A clause of length k (a k-clause) is a set
of k literals. A clause is satisfied if at least one of its literals is satisfied.

The k-satisfiability problem (k-SAT) asks, given a collection of k-clauses as input,
whether there exists an assignment of values to the variables such that all input
clauses are satisfied. The mazimum k-satisfiability problem (MAX-k-SAT) asks,
given a collection of k-clauses as input, for the maximum number of input clauses
that can be satisfied by an assignment of values to the variables.

4.5. Algebraizing MAX-SAT. Suppose a collection of m clauses over n variables
has been given as input. Let us view an assignment of values to the variables
X1,T2,...,%, as an n-tuple t = (t1,ta,...,t,) € {0,1}", where t; is the value
assigned to x; for 1 <17 < mn.

For an assignment ¢t € {0,1}", denote by N(¢) the number of input clauses
satisfied by ¢. Introduce the generating function

(14) G(w) = Z wN®

te{0,1}»

Observe that G(w) is a polynomial of degree at most m with nonnegative integer
coefficients that sum to 2". In particular, the degree of G(w) is the maximum
number of input clauses that can be satisfied by an assignment.

4.6. A time-space tradeoff via fast matrix multiplication. We now restrict
to the case k = 2 (MAX-2-SAT). Assume that 3 divides n (if not, insert new
variables). Partition the variables arbitrarily into three types A, B, C so that there
are exactly n/3 variables of each type. Partition the input clauses into types A, B, C
so that a clause of type T does not contain a variable of type T. Because k = 2,
such a partition of the input clauses always exists.

We can now split an assignment ¢ € {0, 1}" into three sub-assignments a, b, ¢ €
{0, 1}"/ 3 for the variables of each type. The number of satisfied input clauses splits
accordingly into

(15) N(t) = Ne(a,b) + Np(a,c) + Na(b, )

where N¢, N, and N4 count the number of satisfied input clauses of each respec-
tive type. In particular, Np is independent of the sub-assignment to variables of
type T

We proceed to split G(w) using (15) and recover a matrix product. Let Ném ,
Ngw, NXU) be matrices of size 2"/3 x 2*/3 with entries defined for a, b, c € {0,1}"/3
by

NE(a,b) e pNe@b) N (g ) 9y Noe) - NG9 () 92y Nalbe)
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‘We now have

G(w) = Z wNe (@) +Ns(a,c)+Na(b,c) (split to types)
a,b,c
_ Z ch(a,b),wNB(a,c)wNA(b,c) (expand)
a,b,c
(16) = Z whe (@) Z wNe (@) yNa(b.e) (collect)
a,c b

- Z N];m (a,c) Z Néw> (a, b)N‘ﬁ‘w> (b,c¢) (in matrix form)
a,c b
- (w) (w) ar({w) .
= Z Ny (a,c)(N&"" Nx"")(a,c). (to matrix product)

A trivial algorithm for MAX-2-SAT runs in O*(2") time and O*(1) space. Using
(16), we can now trade space for time by first constructing the matrices Néu’), N ]<3w>,

NX"> and then using fast matrix multiplication to determine the product NéwNX”)
in O((2"/3)“*¢) ring operations for any fixed € > 0, which leads to O*(2(«+€)"/3)
time and O*(22"/3) space for MAX-2-SAT.

Exercise 44. Observe that one can carry out the computations in (16) with evalu-
ations of the generating function G(w) at m+1 distinct points w = wo, w1, . .., Wy,
and then recover G(w) via interpolation.

5. FURTHER EXERCISES AND REMARKS

5.1. Transforms on the subset lattice. The following exercises develop and
relate to each other some further transformations on the subset lattice.
Define the up-zeta transform f¢': 2V — R by

FEM) N f(S) for TCU.

TCS

Define the up-Moebius transform fu':2Y — R by

P (T) € (=1)SHTIF(S) for T C U
TCS

Exercise 45. Observe that in matriz form we obtain ¢’ from { by taking the trans-
pose. Similarly for ' and p.

Define the complement transform fr :2Y — R by
(fm)(S) = F(U\S) for SCU.
Define the odd-negation transform fo : 2V — R by
(fo)(S) = (-1)SIf(S) for SCU.
Exercise 46. (' = k(k, p' = kur, p=olo, (=opuo.
Exercise 47. ('u = ko, (p' = ok, p/'¢ = pok, ul = p'ko.

Exercise 48. Present a natural definition for o def Ck. Show that § = ('oC.
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Exercise 49. Define the intersection product f Mg : 2V — R by (f N g)(9) e
Yoanpes f(A)g(B) for S CU. Show that (fNg)k = (fr)U(fk). Take the up-zeta
transform of f N g and simplify to a pointwise product. Establish (f Ng)Nh =
fnlgnh).

def

Exercise 50. Define the difference product f\ g : 2V — R by (f \ 9)(S) =
>ap=s [(A)g(B) for S CU. Show that f\ g = fnN(gr).

Exercise 51. Define the Walsh-Hadamard transform (the Fourier transform on

the n-cube) fé : 2V — R by (f¢)(95) Lof S (=D)ISOTIE(T) for S C U. Show that
fp? =27 f. Is ¢ invertible if R is an arbitrary ring?

Exercise 52. For A,B C U, define the symmetric difference A ® B Lof (A\ B)U

(B\ A). Define the symmetric difference product f © g:2Y — R by (f @ ¢)(S) «

Y aep—s f(A)g(B) for S C U. Show that (f © g)¢ = (f¢) - (9¢). Establish
(fog@h=fo(gah).

Exercise 53. Reduce the disjoint union product to the symmetric difference prod-
uct.

Exercise 54. Let f : 2V — R and k : 2V — R. Define the k-intersection transform
frf 229 — R by (fr)(S) = Sp k(SNT)f(T) for S C U. Show that frf =
((kp) - (F¢))C.

Exercise 55. Observe that ¢ reduces to 7' for a specific k. Simplify the pointwise
product form of the k-intersection product when k is 1 on sets of size j, and 0
elsewhere.

Exercise 56. Define similar k-union, k-difference, and k-symmetric difference
transforms. Reduce each to a pointwise product form.

Exercise 57. Are all the transforms in this section computable in O*(2™) ring
operations given space for O*(2™) ring elements?

5.2. Trimming. This section investigates “trimming” of transforms on 2Y when
the input and output are restricted to subsets of 2V.
Our first objective is a “closure trimming lemma’” for fast Moebius inversion.
Let F C 2Y. Denote by 17 the up-closure of F, that is, the set consisting of
the sets in F and all their supersets in 2Y. Denote by |F the down-closure of F,

that is, the set consisting of the sets in F and all their subsets in 2¥. Define the

elementwise complement of F by U\F dof {U\S:S 7}

Exercise 58. U\1F = |U\F, U\|F =1U\TF.

Lemma 59. There exist algorithms that, given & C 2V and F C 2V as input,
construct an R-arithmetic circuit with input gates for f : F — R and output gates
that evaluate to any of fC: &€ - R, f{' : &€ - R, fu:& — R, or fu' : &€ — R,
with construction time any of O*(|TE| + |1F]), O*(|T€]| + [1F]), O*(|LE] + [1F]), or
O™ (11€] + 151).

Proof. Because p = oo and /' = o(’'o, it suffices to consider ¢ and ¢’ only.
Because ¢’ = k(k, it suffices to consider ¢ only. To evaluate f¢ : € — R it suffices
to consider f: |€ — R because f outside |€ does not affect f¢ in €.
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Time O*(|1&] 4+ |F|). Consider Yates’s algorithm with £(0,0) = 1, £(0,1) = 0,
k(1,0) = 1, and k(1,1) = 1, that is, the output is the zeta transform of the input.
In this case any walk in the n-cube that has a 1 — 0 step has weight 0 because
k(0,1) = 0. Thus, such walks may be discarded. Furthermore, all walks to vertices
in € that do not have a 1 — 0 step traverse only vertices in €. Thus, Yates’s
algorithm in fact specifies an R-arithmetic circuit of size O(n||€|) with inputs and
outputs indexed by | €. The construction is completed by connecting the inputs in
F with corresponding input gates in the zeta circuit; any inputs to the zeta circuit
not in ¥ are forced to 0.

Time O*(|€| + |1F|). Observe that f¢ vanishes outside 7F. Furthermore, all
walks to TF from F stay within TF. Restrict Yates to TF and output 0 outside TF.

Time O*(|1€] + |1F]). Observe that ( = ('oc(x. Let us develop the right-hand
side into a sequential circuit by “meeting in the middle.”

F 4 o ¢ K &

Starting from the left, given the inputs at F, we have that the output of ¢’ vanishes
outside |F. Starting from the right, the outputs at & require input at U\E for
k. Thus, we require input for ¢ at |[U\& to evaluate the outputs at U\E. The
odd-negation layer ¢ thus requires input and output at |U\E. We now connect
the outputs of the left part with the corresponding inputs of the right part at
(I1F)N(JU\E), and force any remaining inputs of the right part to 0. Observe that
LU\E = U\1€ and that |[U\T&| = [1€]. O

Exercise 60. Open problem: Can one evaluate fC : & — R for given €,F C 2V and
f:F — R using an R-arithmetic circuit of size O*(|1€] + |F|) or O*(|€| + |1F]) ?

Let us sketch an application of Lemma 59 in counting long paths in graphs.
Recalling Exercise 49, consider the intersection product fNg: &€ — R for given
f:F—Randg:§— R. We have

frg=((f¢) - (g¢)w'.
Observe that (f{’) - (¢¢’) vanishes outside (|F) N (1G). Thus, Lemma 59 implies
that we can evaluate f Ng in O*(|LE|+ |IF|+|1G]) ring operations, given space for

O*(JL&]+ [1F] +11G]) ring elements. In particular, letting & = {0}, we can evaluate
the sum

(17) (fng® =Y f(Ag(B)
AeF,Be§
ANB=0

in O*(|1F] + |19|) ring operations, given space for O*(||F| + || §]|) ring elements.

Now consider an undirected graph G with vertex set V, |[V| = n. Suppose we
want to compute the number of (s, t)-paths of length k for given G, 1 <k <n —1,
and distinct s,¢t € V. (The length of a path is the number of edges in it.) For
simplicity, we assume that k is even.

Observe that every (s,t)-path of even length k has a unique midpoint v € V' \
{s,t} that splits the path into two halves of equal length; that is, into an (s, v)-path
and a (v, t)-path, both of length k/2.

We proceed to “count in halves” via (17). Let v € V' \ {s,t} and U = V' \ {v}.
Let f,(A) be the number of (s,v)-paths in G with vertex set AU{v}, and let ¢,(B)
be the number of (v, t)-paths in G with vertex set B U {v}.
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Exercise 61. Design a dynamic programming algorithm that computes f, : ( ,52) —
Z and g, : (,52) — Z in time O*((,;/’Q)).

It now follows from (17) that we can count in time and space O*((k7}2)) the
number of (s, t)-paths of length &k in G, that is,

> > fu(A)gu(B).
veVA{sith A, Be(Vp i)
ANB=0
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